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SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
0= Xt 603,000 603,000 0
NASE MEOHY XA (A=K =HEBE) 603,000 603,000 0
NHEDIS(REII2SELSA) 603,000 603,000 0
Aglls K& 30,000 65,000 A35,000
301 LB F 30,000 30,000 0
((ZRpSEsie= RSN = 30,000 30,000 0
OMASZED X =&3
500,000& *60H 30,000
4012 29 2,700 2,700 0
201 LBH2AH| 2,700 2,700
01 AtR2telt] 2,700 2,700
Otz DEMYEA MMBEHE SEZ
2,000,000 =14 2,000
O&2IIHE &L MANE(EHESA)
700,000& 1 700
A2 2el 570,300 535,300 35,000
706 JIEFHLHSHEH 570,300 535,300 35,000
03 He2 570,300 535,300 35,000

570,300,000& 1A 570,300




